5052 ALUMINUM EF

CASTIN TAB——_

g

(1) 1/2-13 BOLT 300 SERIES SS PEM NUT
(1) 1/2 FLAT WASHER
(1) 1/2 SPLIT LOCK WASHER
(2) 3/8-16 BOLT /ﬁ
(2) 3/8 FLAT WASHER
(2) 3/8 SPLIT LOCK WASHER—— CAMERA MOUNT YOKE

5/16-18 U-BOLT

U-BOLT SADDLE

(2) 5/16 HEX NUTS

(2) 5/16 LOCK WASHERS

ACM POLE TOP ADAPTOR

CAST 356 ALUMINUM
THE INFORMATION CONTAINED IN (IR B R I )
PROPERTY OF SKYBRACKET. ANY wi
REPRODUCTION IN PART OR WHOLE MAST RN MOUNTIHG B4 ABWAEE
OF SYBRACKET & PROMBITED. [
NOTES: ADJUSTABLE CAMERA
. UNLESS OTHERWISE SPECIFIED: | APPROVALS BY DATE K|T STA“\“_ESS STEEL
1. STAINLESS STEEL HARDWARE. DIMENSIONS ARE IN INCHES ! HARDWARE
TOLERANCES: DRAWN EW 03/06/20
FRACTIONAL +1/64 SIZE [ DWG. NO| REV.
ANGULAR: MACH +15' BEND +30' e i
TWO PLACE DECIMAL  +.015 RESPENG A SS-SB-ACMK A
THREE PLACE DECIMAL +.005 DO NOT SCALE DRAWING SCALE: NTSlCAD FILE:  $5-SB-ACMK |SHEET OF




	Sheet1
	Drawing View1
	Drawing View2


